

$$\begin{array}{r} 4\overline{6} \ 0\overline{48} : 8 = \underline{\underline{5756}} \\ 60 \\ \quad 44 \\ \quad \quad 48 \\ \quad \quad \quad 0 \end{array}$$

čtyři "odrážky" - čtyři číslice ve výsledku

$$\overline{17} \overline{433} : 9 = 1937$$

84
33
63
0

$$\overline{508} \overline{285} : 5 = 101657$$

90
98
32
28
35
0

šest "odrážek" - šest číslic ve výsledku

$$712620 : 6 = \underline{\underline{11870}}$$

11
52
46
42
00
0

~~$$2005612 : 4 = 4101403$$~~

~~40
05
16
01
12
0~~

$$\overline{2005612} : 4 = 501403$$

00

05

16

01

12

0